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Topic:- General Knowledge

1) As per Census 2011, what is the literacy rate in Madhya Pradesh? /
SRTUET 2011 & SRR, LAV W HIGRET G T 82

1. 63.74%

2.71.13%

3.57.56%

4. 69.32%

Correct Answer :-

e 69.32%

2) Who among the following has been appointed as Chairman of 15™ Finance Commission of India on November 20172 /

Prafiea & & fed Taer 2017 Y HRA & 157 Faa START & Sremet F & & Pryea fpar war ar
1. Bishwadip Dey / faydlu g

2. N.K. Singh / T1.%.Rig

3. Alok Kumar Verma / 3Tdlld $HR g

4. Vikas Swarup / fa&m @&q

Correct Answer :-

« NXK. Singh/ T1.%.Rig

3) Who won the 82"4 Senior National Championship Title of Badminton in women’s single category on November 2017? /
AR 2017 Y ARt H goa Ao F Fsfie & 527 afvy Ifta g9 (& ) feem shar

1. Ashwini Ponnappa/ SRt O

2. Saina Nehwal / HTS-T Agard

3. Jwala Gutta / SdIcIT I[ST

4. P.V. Sindhu / 0. at Rig

Correct Answer :-

« Saina Nehwal / 1T ﬁm

4) Who is the Speaker of Madhya Pradesh Vidhan Sabha? /
AegeY fau™ g1 & guufa @ o) P19 82

1. Sitasharan Sharma / TR THf

2. Brijmohan Mishra / Wﬁf%ﬂ



3. Ishwardas Rohani / ém Qo
4. Sriniwas Tiwari / Sarg faar

Correct Answer :-

« Sitasharan Sharma / SamER= A

5) Who is the only batsman to score 3 double-hundreds in One Day International cricket? /
THfeawiy aRiPHa frde A 3 ie¥-3a® g9 are UeaTs fEars! o4 32

1. Virender Sehwag / IR gganT

2. A.B. DeViilliers / TalT. fefafera

3. Rohit Sharma / fgd T

4. Chris Gayle RETKIG]

Correct Answer :-

« Rohit Sharma /3 %(_‘l il

6) Tansen, the Father of Hindustani music, belongs from which of the following places of Madhya Pradesh? /
gt Tifta & S aAa A & Pl & @ #19 @ wF | T69fia @2

1. Balaghat / dTTUIC

2. Sawan / g1d-

3. Behat / é%‘d

4. Depalpur / m

Correct Answer :-

« Behat/ 98¢

7) When is the term of the present Madhya Pradesh Vidhan Sabha scheduled to end? /
AU AU YU T SIS $9 FHIW g1 194 &2

1. January 2019 / SR 2019

2. September 2018 / f&der 2018

3. March 2019 / |4 2019

4. November 2018 / TdeR 2018

Correct Answer :-

o January 2019 / SHFERT 2019

8) 20 MLAs of ‘Aam Aaadmi Party’ were disqualified on January 2018 for which of the following grounds? /

3T 31T UTl & 20 fauraest ot FrafifEd smuR & Tad Sa¥ 2018 FT 3R it far war a2
1. Criminal proceedings in court / 3{qlcld T SR ATl H wrfaret

2. Holding office of profit / <TH HHMATA UG FHTTAT

3. Disproportionate assets to income / 3{TJ Y 3ff® uf

4. Wrong information given in affidavit / TGUYUF T TTAd STHBRT &



Correct Answer :-

« Holding office of profit / dH FHHFATT UG FHIAT

9) What is the motto of Madhya Pradesh Tourism Development Corporation? /

A e [ A &1 9 9t (3Rt are) | 82

1. God’s Own Country / HITdT T 3T T (Tﬁlg\q 3N EIV_Q‘T)

2. Every Thing’s Possible / BX o IHI § (Qﬁﬂ g uﬁm

3. The Heart of Incredible India / 3ed HRd &1 g (G 8IS 3Th b Sad SadN)

4. The Land with Rich Forest Cover / dH& d-1 HTARUT g 'H:&f (@ de fag RawRwe PHaA)

Correct Answer :-

o The Heart of Incredible India / AJcd HRd Pl g (_Cx"E'l_C.F 3 FAHfSaTd gf&an)

10) Paras Chandra Jain is the Minister of under Government of Madhya Pradesh. /
HY TR WA & q6d URH 95 o eI

1. Science & Technology / fagm @W

2. Panchayati Raj / PEIRRIRIE]

3. Energy / ot

4. Animal Husbandry / UR[UTeIT

Correct Answer :-

o Energy / $HYl

11) Where in Madhya Pradesh is the ‘Makhanlal Chaturvedi Rashtriya Patrakarita Evam Sanchar Vishwavidyalay’ located? /
HAYCY # "ARITATd agddl IPIT TABTRT Td HaR fayfaemey * wgi fRua 3?

1. Jabalpur / STS[CTYY

2. Gwalior / TaTCIIR

3. Indore / 33 N
4. Bhopal / e

Correct Answer :-

 Bhopal / U

12) CANCELLED
Osho Rajneesh was born in which of the following districts of Madhya Pradesh? /

=M TSI BT g wew & P A A s A v A gem ar
1. Narsingpur / W

2. Ratlam / XddTH
3. Tikamgarh / TG

4. Mandla / H&dl

Correct Answer :-



« Narsingpur / HT@I%ER

13) In which of the following cities of Madhya Pradesh is the Security Paper Mill located at? /
AV & Fafifad § 9 o9 & 2w A R T fira Ra 82

1. Gwalior / TTfCRR

2. Bhopal / T

3. Dewas / GaTd

4, Hoshangabad / LRI

Correct Answer :-

. Hoshangabad/é I G

14) ‘Meri Ikyavan Kavitayen’ is the work of which of the following writers hailing from Madhya Pradesh? /
A TG HIIA HeA U | Hafia Frafafed # @ i dus s pfa g

1. Atal Bihari Vajpayee / 3{cdl fogr areuh

2. Nida Fazli / a1 wrerat

3. Makhanlal Chaturvedi / TRG-TATd qac

4. Bhagwan Datt Sharma / HTdT- Q< Tt

Correct Answer :-

« Atal Bihari Vajpayee / 3{cc] [ERREISEEI]

15) 'Tower of Silence' is associated with which of the following religions in India? /
YRd # fAferfaa & 3 f5a o & J1y eraR oife Igaa Jeiia 82

1. Parsi / UREY

2. Islam / S¥IH

3. Buddhism / S1&

4. Jainism / S

Correct Answer :-

« Parsi /ORI

16) Which of the following was India’s first indigenously made color movie? /
TYH YR Wt $iF feew Fafif@a d G s a2

1. Raja Harishchandra / XTSIT gyg

2. Mughal-E-Azam / Td-U-3{ToTH

3. Alam Ara / ATSTH AHRT

4, Kisan Kanya / fam &=

Correct Answer :-

« Kisan Kanya / ™ &=



17) Dr. M. Balmuralikrishna was a renowned artist of .
ST. . SR T & TP URIs FATOR A

1. Tabla / d&cl

2. Hindustani vocal / %'—g'ﬁ'lzﬁ g+

3. Carnatic vocal / FI1cd A

4. Flute / IRER

Correct Answer :-

o Carnatic vocal /W M4

Topic:- General Hindi

1) e & g g Wi e o gfm
1. A+

2. Tg+3{Th

3. T3P

4, Tg+3{D

Correct Answer :-
. 3D
2) RS T aE gIAs A e I A AsA AT e
1. Sffge
2. 3gIdrg
3. sfgd
4. A

Correct Answer :-

3) A FIYE U AT A AP
1. TTd1ed
2. 7198
3. aTe
4. TMa&

Correct Answer :-

o A&

4) T T FT I YeTak &1 A g fipa A3 Haare?
1. WA S AT

2. A WA HH

3. HH WA HMH TG

4. 918 BTy | WA



Correct Answer :-

. fTWITFH

5) 3@ & fore gt wataar arat 2<gl @1 ufda &t gl
1. gan, 3ifi, @
2. o, i, 9
3. e, 3ifEw, 9
4. o, Sifea, 99

Correct Answer :-

. gu, i, 9

6) femsm & fRrg v d@fy fide =1 gfa

1. fUfama

2. T+

3. fos-amm

4. fOq+am

Correct Answer :-

- faqram

7) T=Ar & fog A vatgard ara wreql 3t ufda w1 gfo
1. F=TeR, gear, g

2. =T, gutaR, 35

3. FRIe, gutas, 3g

4. I, gUTahs, g

Correct Answer :-

- PR, gumer, 3¢

8) ‘Bl 3T 7 e YTk &1 oY i e A P ard?
1. ORT Y 38T 9 AT

2. B 3R ¥ 33T A

3. et T 9 =T AT

4, 3731 T

Correct Answer :-

o ORT Y 3BT T W

9) BIH T A faHe gH THA gH ard| - A Frg # § 919 91 Sreipr 22
1. IUHT PR

2. TSl SABR

3. FpIfeRT SeiPR

4. 39T 3APR

Correct Answer :-



10) Rig it F== A AR < Aa F

THH 4t o A fRfe < s A

STt onaft ok 3% Wiet He @t & 11 - F frg o A 1 A1 SrddR 32
1. SUHT 3[SPR

2. TTRfad SAHR

3. TG HABR

4, IT IAPR

Correct Answer :-
 JUH 3DPR

11) HH SO & ST Wg FA A A P ATR?

1.gm™

2. g

3. 9

4. giq

Correct Answer :-

12) ¥ Ut d T v P A AP AT 2
1. darfes

2.9R

3. R

4. fagm

Correct Answer :-

13) ‘SRR’ B 19 & A B A1 981 faaa g 32
18R

2.9R

3. foR

4. R

Correct Answer :-

14) YUY’ BT & AR g Fad I e
1. Uy Yy
2. T YY
3. TR YY
4. QY BT YT



Correct Answer :-

. QYYYY

15) R AP ad F A @ I A IFTAR
1. 3l
2. 3BT
3. 3B

4. &=

Correct Answer :-

o S&H

16) Fd¥ BT A A B T wE a9 v 22
1. 3R
2. ARR
3. W

4. 3{qW

Correct Answer :-

17) 94 foar e wf fean, wa vwa wfere yarg |

A A U1 U9, ST T QY WRaTg | - A A I s I 3?2
1A% ™

2. HYd ™

3. QA"

4, Ufqd 39

Correct Answer :-

. XA

Topic:- General English

1) Select the suitable conjunction to complete the sentence:
I shall be happy _ my brother goes with me.

1. when

2. before

3. since

4. after

Correct Answer :-

e when

2) Choose the most suitable prefix for the given sentence:



The coral reef of the Great Barrier Reef is __comparable.
1. dis-

2. un-

3. in-

4. ir-

Correct Answer :-

3) Choose the most suitable determiner for the given sentence:

There is of milk in the refrigerator; everyone can have a glass.
1. either

2. some

3. every

4. plenty

Correct Answer :-

o plenty

4) Choose the correct form of tense for the given sentence:

They a lot of time brainstorming on the problem and have not yet reached a conclusion.
1. was spending

2. has been spending

3. spends

4, have spent

Correct Answer :-

« have spent

5) Choose the correct form of modal auxiliary verb for the given sentence:
Yesterday, while rushing to catch the bus, I lost my umbrella. I have left it at the bus stop.
1. must

2. should

3. shall

4. would

Correct Answer :-

e must

6) Choose appropriate articles for the given sentence:

Cars from ____ early days were different from ____ ones we see today.

1. the, the



2. the, an

3. a, the

4. an, the

Correct Answer :-
« the, the

7) Spot the error in the given sentence:
A crowd of people has gathered to watching the cricket match.

1. Gathered to watching
2. A crowd of

3. The cricket match

4. People has

Correct Answer :-

 Gathered to watching

8) Fill in the blanks with the present perfect tense of the verb from the given options:
They their rooms, so they are punished.

1. have not clean
2. have not cleaned
3. has not clean

4. has not cleaned

Correct Answer :-
« have not cleaned

9) Give the noun form of the underlined word in the given sentence:

The woman took objectionable to the abusive language used by the auto driver.
1. objectional

2. objectionness

3. objective

4. objection

Correct Answer :-

« objection

10) Choose the appropriate preposition for the given sentence.
River Thames flows____ the London Bridge.

1. beside

2. off

3. under

4. on



Correct Answer :-
o under

11) Choose the appropriate form of the verb to complete the given sentence.
If he ___ there, he must have heard the talk.

1.1s

2. have been

3. was

4. were

Correct Answer :-

12) Choose the appropriate preposition to complete the given sentence.

When will they arrive the airport?

1. at
2.in
3. to

4. on

Correct Answer :-

13) Choose the appropriate articles to complete the given sentence.

The doctor says that mine is ____ hopeless case. He says that I should live in ____ open air.
1. the, a

2.a,a

3. a, the

4. an, an

Correct Answer :-

« a,the

14) Choose the option with the appropriate punctuation inserted in the given sentence.
The wind being favorable they sailed

1. The wind, being favorable they sailed.

2. The wind, being favorable, they sailed

3. The wind being favorable, they sailed

4. The wind being favorable, they sailed.

Correct Answer :-

» The wind being favorable, they sailed.



15) Choose the option with the appropriate punctuation inserted in the given sentence.
Will your brother come to pick us up from the station

1. will your Brother come to pick us up from the Station!

2. Will your brother; come to pick us up from the station?

3. Will your brother come to pick us up from the station?

4. Will your brother: come to pick us up from the station?

Correct Answer :-
« Will your brother come to pick us up from the station?

16) Choose the option that best transforms the given sentence using a question tag:
He hasn't returned from his trip,

1. have he?

2.isn’t he?

3. has he?

4. hasn’t he?

Correct Answer :-

e has he?

17) Choose the correct form of verbs that is in agreement with the subject:

Iamsureyoucan___ theproblemtoherand ____ the solution.
1. has explain found

2. explained, finding

3. explaining, finds

4. explain, find

Correct Answer :-
« explain, find

Topic:- General Maths

1) Each side of a regular polygon is 12.5 cm in length. The perimeter of the polygon is 87.5cm. How many sides does the
polygon have? /

wgﬁwmﬁﬁm B UAD YOIl B aTs 12.5 A1, 81 TgYS B TR 87.5 I, &1 95y A fpaeit
Yol &2

1.5
2. 11
3.7

4.9

Correct Answer :-



Deepak purchases 60 kg and 85 kg bags of cement. The maximum value of weight which can measure the weight of the
cement exact number of times is: /

3uw, Wie F 60 fParm iR 85 e & a1 Tiiear 81 a1 &1 sifiean uH o) Wie & g S gurd o d
P3 IR HIY IHdT &

1.5kg /5 fpaum®

2. 12 kg / 12 fpamm
3.20 kg / 20 @M
4.17 kg / 17 famm

Correct Answer :-

. 5keg/5fHarm

3) The sum of three consecutive numbers is 66. Find the least of the three numbers. /
T e T3 BT AT 66 1 37 I19 T3 # F T BT TS 1 PR

1.23

2.25

3.21

4.29

Correct Answer :-

4) Harpreet's suitcase is locked and has a four-digit password starting from 574P. Harpreet randomly remembers that the
number is divisible by 3. How many trials he needs to do to get the correct password? /

U BT Yeby @l 8 741 ¢ 3R IHH TR-3 T UaS 2 &) 574P A T ST 21 g 3 defDBe UG 8
o ag T 3 @ fauTsa 81 98 as U A & fore 39 fraq wdterur 37 &Y sravawar 32

1. One / Uch
2. Two /Gl

3. Four /dR
4. Three / AF

Correct Answer :-

« Three /<

5) CANCELLED

2 5 y
A number is multiplied by i and % is added toit. If theresult so obtained is % subtracted from

4= | Lh

times the original number, then find the number. /

wﬁwﬁ% ¥ 7on T amar § 5K 3EA 2 & ST arar 81 3t oRemE 9

k2| L

WWW%%H@H’W%%@% ;ﬁww.a’rmmﬁl

66
117



4.

Correct Answer :-

66
. 17

6) Which of the following is a rational number? /
Frafafea # 4 o= 4 vo uiaa den 32

1. 3433

, 24373

3. 543"/

4 4433

Correct Answer :-

. 3433

7) Numerator of a fraction is 5 more than 5 times its denominator. When 5 is subtracted from the numerator of the fraction
and added to its denominator, the fraction becomes equal to 4. Find the original fraction. /

TS FUA BT 3=, IS 8P 5 TR 5 34fep 31 59 Fiay & 31 {5 geran oIrar @ 8k 39P g A oits fear wirar €, ot
e &1 9 4 & RIR 81 941 8 | IRAfae FHa Jid B

"
=

4

[

4.

Correct Answer :-



Uday studies 6 é hours daily. He spends 1 3 hours of his time for Hindi and 1 é for English. How
much time does he spend for mathematics if he spends rest of the time equally on mathematics

and science? /

mﬁﬁ?rﬁga%mwmhaglga‘%%ﬁraml;d%maamw
H g oear g1 I a7 Y THY & SXreaT AT A0 U 9T F ¥ FaT g, ar
ag aIfurg & frdeT AT ¥T &ear 7

3§hou.rsf3§*j%'

ihou_rsf'i*j?'

2_3 3

12hows /12 g
3_3 3
D pours /2 g
4, 3 B

Correct Answer :-

1lhows / 12 g&
3 3

9) A rectangular park is 133 m long and 10; m wide. Find its perimeter. /
U& HGATEHR G 137 HleT @ar aor 102 Hex =ist 81 swd Ry a7
1.47.1m/47.1 Hi]
2.48.2m/ 482 HleX
3.474m/47.4HR
4.46.9 m/ 46.9 Hiex

Correct Answer :-

. 47.1m/47.1 HiR

10) Riva chooses a number, subtracts % from it and multiplies the number by 12_The result now
obtained is ;times the original number. Find the number. /
R vs wear gadh 8398 A 2 gendt § 3R 3§ Fear A 12 F qon a1 81 3w
red 9ROTH, He §EAT & 2 AT 81 §EAT A

1.1

2.1.2

3.1.8

4.14

Correct Answer :-

11) The value of (V11-V2)*is: /
(11422 FT #T &



12) What is the value of ‘k’. if f(x) = x® + 3x% —kx + 4 is divided by x — 2. and the remainder is 147 /
K H AT T §, G fx)=x3+3x% ~kx+4 FT x-2 @R faenieia fmam amar 3R
YHe 14 Frar 87

1.5

2.6

3.7

4.4

Correct Answer :-

1
13) Which of the following cubic polynomials ha\'eg,— > and 2 as its zeroes? /

farafat@d & ¥ Fi9 ¥ o=y sgal & 97 M2 @

2 1
2" -3

1 23 -xt+4x 3

2. 33 +6x? -Tx+2
3. 23 -11x242x 3
42 - 12x1+ 5%+ 6
Correct Answer :-

4xF - 12x1+ 9%+ 6

5 4
1) Find the sotution of = + S=— 4 x.d

_|_

w8

4 =
ZE"' X I gel A 1|

o |

1. 1.45833

Correct Answer :-



15) A quadratic polvnomial with sum of zeroes —% and product of zeroes % can be: /
; 1 : 1
U gfaurdia ague orad el 1 AT — HR T & IR 8, 8 81 @l b
x5+ 2x +2

.
1
x“+-x +

Ba |

2x241x 42

-
2

s —

x +

Ba |
B

4.

Correct Answer :-

16) The difference between the interior angle and the exterior angle of a regular polygon is 60°. The

polygonisa |
Us §H SgHe (WER i) & iR H1o1 R asdl #1or & @ w6078
gl v Bl

1. Octagon / 3{SCH

2. Hexagon / Y4l

3. Septagon / HWIHS

4. Pentagon / TaHSl

Correct Answer :-

» Hexagon / YgHo
17) 2" =2048;n="7
1.12

2. 11

3.10

4. 13

Correct Answer :-

Topic:- General Aptitude

1) In a certain code ‘GIVEN’ is written as ‘JHVOF’. How is’ SHARK" written in that code? /
w A3 Fe § ‘GIVEN’ #1 “JHVOF’ & &7 § for@r Srar g1 39 &g # ‘SHARK’ &t f35e ware forar?
1. IUSPQ

2. OPSUI



3. ITALS
4. QRFML

Correct Answer :-

« ITALS

2) An uneducated retailer marks all his goods at 75% above the cost price and thinking that he will still make 25% profit,
offers a discount of 25% on the market price. What is his actual profit on the sales? /

o RATAId PP fashdr 3 F3ft T Y arTd God | 75% 31t fRifd ®ear € ok a8 S @ & 25% @t
ge e Ut T8 25% BT ATH FTRIA R A1 Afdh1 339 g @1 faspt wR I arafa® @y fa=n gime?

1.31.35%
2.31.36%
3.31.52%
4,31.25%

Correct Answer :-

e 31.25%

3) A vessel of 64 litres is filled with milk and water. 70% of milk and 30% of water is taken out of the vessel. It is found that
the vessel is vacated by 55%. Find the initial quantity of milk (m) and water (w) in litres? /

64 1R & TH T BT g 3R T | WRTTRTI 70% G 3R 30% U 1 Fel & Q16 b1 11| I8 Iram 141 fos
T B 55% TP Tl X 1341 T e (m) 3R I (w) Y uRfe A diex & gma sifvg?

1. m=28,w=23
2. m=40,w=24
3. m=35,w=20
4. m=26,w=21

Correct Answer :-

4) The difference of two numbers is 1460. If 2.7% of one number is 4.5% of the other number, then find the two numbers? /
3 T3 BT 3R 1460 B | TS TP BT BT 2.7%, 30 BT BT 4.5% &, Y G141 JBATE FTd BIfore?

1. 2180, 3640

2.2170, 3630

3.2175,3635

4. 2190, 3650

Correct Answer :-

« 2190, 3650

5) The average salary of the entire staff in an office is Rs. 130 per month. The average salary of officers is Rs. 450 and that
of non-officers is Rs. 120. If the number of officers is 15, then find the number of non-officers in the office? /

T pratag d I HRAY &1 3iad aa+ 130 < ufa A8 81 freTRal &1 3Nud A 450 T & 3R MR-ifrafval
PT1120 3. 21 Af ATUPITY Y H@1 15 B, I Pratay # AR-RIpial &1 T=m yrd Fifere?



1. 450
2. 460
3.470
4. 480

Correct Answer :-

. 480
6) If ‘ATTENDED’ is coded as ‘DEDNETTA’, then how will you code ‘ADVOCACY’? /
FfX CATTENDED’ Y ‘DEDNETTA’ § Fifeq 33T SITaT § a7 3T ‘“ADVOCACY’ 1 {578 ware rfed #4312
1. YCAOCADA
2. YCAVACDO
3. CADOYACV
4. YCACOVDA

Correct Answer :-

« YCACOVDA

7) If the first digit in each number is reduced by 1 and its position is interchange with position of the second digit, then
which of the following numbers will be the largest?

259, 824, 635, 418,347  /

I U BT § UgdT 3P, 1 A $H & a1 o ok Iuat fRAfa z:\’aiﬁa%f@lﬁr%?wuamﬁaaﬁzﬁaﬁ, a
fFafafea & Q 19 @ dom 99 931 ghfi?

259, 824, 635, 418, 347
1. 824
2. 635
3.418
4,259

Correct Answer :-

e 259

8) Gopal’s salary was decreased by 50% and subsequently increased by 40%. How much percent does he lose? /
TUTE T AT 50% dF TeT faar a1 3R 918 & 40% a% $t g B & w1 3 fpan ufoxra &1 Jwa= gan?
1.25%

2. 40%

3.35%

4. 30%

Correct Answer :-

- 30%



A runner takes as much time in running 18 meters as the bike takes in covering 25 meters. Find the distance covered by the
runner during the time the bike covers 1 km. /

TS Y9 18 Wiex Ta A Ia-1T 0y AT & a1 9159 31 25 Wiex au H3 A @vrar 81 9159 gr1 1 foeft ght o
FXA B ERT UTaH GIRT 9T B T g3t J1d B

1. 720 meters / 720 HIex
2. 760 meters / 760 HIcX
3. 740 meters / 740 HIeX
4. 700 meters / 700 HicX

Correct Answer :-

« 720 meters / 720 HieX

10) Mohit bought a horse and a carriage for Rs. 4000. He sold the horse at a gain of 20% and the carriage at a loss of 10%,
thereby gaining 2% on the whole. Find the cost of the horse? /

Hifgd A TP OST 3R TH MST 4000 YA A WIS | IHA TIST 20% P ATH W 3R TS BT 10% B 811 W 9 fam,
o T fraTeHR 3 2% HTATH §3MTI TS B! HAd 19 BIfTT?

1. Rs. 1000 / 1000 39T
2. Rs. 1400 / 1400 399
3. Rs. 1200/ 1200 0
4. Rs. 1600 / 1600 T

Correct Answer :-

« Rs. 1600 / 1600 343

11) In how many different ways can the letters of the word ‘CRAZY’ be arranged? /
forar TRl & 958 ‘CRAZY’ % &1 1 sqafedd Fham ST aear g2

1. 260

2. 160

3.225

4. 120

Correct Answer :-
« 120

12) The average age of a mother and her two twin daughters born on the same day is 20 years. The ratio of the ages of mother
and one of her daughter is 6:2 respectively. What is the mother’s age? /

T i 3R T & 37 U1 g€ Sl 3 qeai IRl Y oitwd 3g 20 el 1 Hi 3R IWP TH A8 Y g P71 U
PURT: 6:2 8| Wi B 3T FT 8?2

1. 20 years/Zoa'Ef
2.18 years/18<_=|'5f
3.36 years/365|'5f

4, 24 years [ 24 ¥

Correct Answer :-



« 36vyears/36 Ty

13) The average of first 51 natural numbersis__ ./

TR 51 ITHfas Gearsi wrsfea &
1.28
2.26
3.30
4.24

Correct Answer :-
e 26

14) Reshma is 40 years old and Monisha is 60 years old. How many years ago was the ratio of their ages 3:5 respectively? /
IRT 40 a9 B 7 3R W 60 T FY B 1 fra o Ugd IS} Y BT STUTH HHRT: 3:5 UT?

1. 15 years / 15 G

2. 18 years / 18 GL

3. 24 years/ 24 ay

4. 10 years /10 G

Correct Answer :-

e 10years/ 109y

15) Two cards are drawn together from a pack of 52 cards. The probability that one is a spade and one is heart is: /

52 A= aTel T ST A & U9 U 1Y AP | TP g9 U SR U fad 811 Ft wiflean e @:

Correct Answer :-

1B
102

Topic:- General Computer

1) To install a new printer, the option on control panel is used. /

TS 947 fiie? % o34 & g, Fea Ha w® ST T IuaNT fopar SraT 1
1. Install New Printer / Q@IJFT qﬁa

2. Install / W\fa



3. Add Software / TS 9Itedd?y
4. Add New Printer / TS = e

Correct Answer :-

« Add New Printer / TS | UeY

2) In MS Excel 2010, which of the following tabs can be used to delete rows and columns? /

THTH T 2010 H, 3 3R Biawl ®1 fEedie s & fore Fafafae & @ 919 9 29 o1 3w e o awar @2
1. Insert tab / 3¢ <&

2. Home tab / BH ¢

3. Design tab / [SSIIg ¢

4. Layout tab / A3MT3T <&

Correct Answer :-

« Home tab / Eh'q%a

3) In MS Excel 2010, which of the following options will allow you to highlight the top or bottom numbers or percent in the
selected cells? /

THTH TR 2010 #, Faferfad & @ @19 91 Qe smus! gaf~a 9l # <iq a1 aicq &1 Semsi a1 ufawa &
FISAISE B B AT 32

1. Data Bars / @Taﬁ
2. Color Scales / R T

3. Top/Bottom Rules / clu/&icy o

4, Highlight Cells Rules / BIRCIRC Hel oY

Correct Answer :-

« Top/Bottom Rules / clu/&icy o

4) In MS Excel 2010, minimize button is located at the i
THTY TR 2010 H, -AES 99 R fRE ATl
1. lower right-hand corner / Eic] E'I%T‘ﬁ CaC| (FﬁGR TIE_C'-%'_S' m

2. lower left-hand corner / T S|y Cac (FI}T 3R W-%_S m

3. upper right-hand corner / SO alfet B (3R Q'Ig_c'%_&' ﬁ:h)

4. upper left-hand corner / SO AW DA (3R ﬁq{’-%g a'T\IJ:h)

Correct Answer :-

« upper right-hand corner / SO alfgt B (SRR 33-%._‘537—%

5) In MS Excel 2007, a reference that refers to the same cell or cell range on multiple sheets is called a i

THTY TR 2007 ¥, TP NE¥d o Aediud fed R G A a1 Jd 39 B R H3a1 8 37 PRI B |
1. Multi Dimensional reference / g STt g (ﬂ?ﬁ@ﬂ'ﬂ%ﬁ'ﬁ)

2. 2-D reference / 2-D RB¥g



3. 1-D reference / 1-D RB3g
4. 3-D reference / 3-D RB3g

Correct Answer :-

« 3-D reference / 3-D RB3¥g

6) In MS Excel 2007, what is AutoFilter? /

THTH TR 2007 H, Siciftheey 1 82

1. Tt filters out the uncorrected words / T8 IR Wec] B e HRAT B

2. It filters out the rows from a data table / g Uch KERE: R flheey ®ear % |

3. None of the above / G'Cléaﬂ R IR
4, It filters out only numerical values / Ig I WHTHS T ! e Bl %I

Correct Answer :-

« It filters out the rows from a data table / g Uh Sl eTd A Bl flheex Fdl % |

7) In MS Excel 2007, which button will allow you to view or hide the comment associated with the currently selected cell? /
THTY TR 2007 §, HI GT 91 ATIH] dATH A Tafd Td & Yafta vHe &1 og U1 8158 B3 $1 3rgufa m?

1. Show/Hide button / R/8T3S S

2. Find button / BTSS §cd

3. View/Hide button / /RIFS dc

4. View button / & dc

Correct Answer :-

« Show/Hide button / Qﬁ/’s’ls‘s’ §cAd

8) In MS Excel 2010, a task pane is similar to a i
TH TRA 200 W, THeRF U FIAE AT
1. Text box / CoRC IR

2. Virtual box / aﬁa{a sl

3. Dialog box / AN Sl

4, Shapes /RS

Correct Answer :-

« Dialog box /S AN i

9) In MS Excel 2010, the shortcut key used to apply the time format with the hour and minute, and AM or PM is: /
THTH TR 2010 H, Tidee o1 &) U 3R e, Td AM a1 PM & I1Y GHY BIAC o1 & 7T YR 31 911t 8:
1. Ctrl+Shift+#

2. Ctrl+Shift+T

3. Ctrl+Shift+()

4. Ctrl+Shift+@



Correct Answer :-

. Ctrl+Shift+@

10) In MS Word 2007, by default the file will be saved in extension. /
THTH g3 2007 H, fSWiee ©U 4 B TRICTH # 94 gl St |
1. .docx

2. .pdf

3. .xml

4. xtml

Correct Answer :-

o .docx

11) In MS Word 2010, the redline that occurs while typing under any word indicates: /
THEH T8 2010 ¥, foreft oft 2o & 2 2150 Ha WY M arel ATeRET R BT 8:
1. It is an important word / g Tdh u‘s’aqof P %

2. Used more than one time / Uh T 3fId IR W fosam man %

3. Spacing is more / @ e %

4. Misspelled word / TTETd a1 2eq

Correct Answer :-

. Misspelled word / TAd ddit Teg

12) In MS Word 2010, which of the following shortcut keys is used for font ribbon? /
THTH T8 2010 H, Wi Ra & forg fFrafafea & & foa widee 3t &1 sxiam fear s g2
1. Cul+V

2. Ctrl+F

3. Ctrl+D

4, Ctrl+S

Correct Answer :-

« Ctrl+D

13) In MS Word 2010, a small character can be created above any character is called ./

THTH TS 2010 H, fHH HYaeX & SW TS BIC HIFR B 1T o1 GHT g, Hgaargl
1. Topscript / CIAREPY
2. Subscript / qarepy

3. Superscript / W
4, Topcharacter / ARG

Correct Answer :-

« Superscript / W



14) What is the purpose of a section break in MS Word 2007? /
THTH T8 2007 W YR 9P BT ST HT 82

1. Section breaks let you divide your document into sections, but doesn’t allow you to apply different headers and footers and
formatting per section. /

TR S TIHT 3T SIFGHT DI U H FauTiora 7 <d §, Afd st faftrsr g3 a1 per ik ufa Ja=e
BRATT X B 3rgHfd T8 3 B

2. Section breaks let you divide your document into sections, allowing you to apply different headers and footers and formatting per
section. /

IR S DT 30 STagHC BT SFUFT H AU I3 a1 B, o™y 3170 S1eRT-S1eRT g8% a1 e 3R Ul Ja-re
HRATAT A HR Thd & |

3. Section breaks let you multiply your document into sections. /
Y NP TUD 3T SIRIHT B STHIT H T[0T B d B

4. Section breaks let you separate text around objects on web pages. /

JIYH 9P SHTUHT 06T IR SHfsola] b MTY-UR b CRE P 3ol B3 § Heg Hd o

Correct Answer :-

« Section breaks let you divide your document into sections, allowing you to apply different headers and footers and formatting per

section. /

IR S MU 30 STagHC BT SFUFTT H FIUTIOIT P31 ST 7, o 317U S{eRT-31eRT g8% a1 e 3R Ul Ja-re
HRAT IR IR b B

15) The CPU and memory are located on the ./
g ofik AHY wRfREgA

1. Expansion board / Qa:aﬁ‘m EIR]

2. Storage device / TRl feargyd

3. Output device / 3T3CYC %’a'mr
4. Mother board / HGX Eh?:c

Correct Answer :-

« Mother board / AicR SIS

16) Which one of the following statements about software is CORRECT? /
WiredmR & IR A Frafifed & & S w1 w3 aE @2

1. It cannot be manipulated. / sﬂ'ﬁf %Tav_{ :'_E’p[ fooar S gemar % [

2. It cannot be touched. / $H BRI EESIRCEIG

3. It cannot be changed. /3@ dadl q@\_ﬂ Hohdl %l
4. It does not have instructions or programs. / Bt = a1 R e | §

Correct Answer :-

« It cannot be touched. / T T & oI b & |

17) CANCELLED



Which key is used to delete a character to its right side of the cursor in MS Word 2010? /

TATH T8 2010 § FI & e TRE TS g B1 g & T {5 Foft w1 Iu=i fowar wmar 32
1. End button / T8 g4

2. Backspace button / IHWY T

3. Delete button / f&efie se

4. Esc button / Esc dc

Correct Answer :-

« Delete button / fSdile ged



